HEER

I¥ (%) ALBS AE R SMEESALE 9N D

BT BB N R WM & B WL 2REE

1 REZESRHBHRETISE T SEF9A10H

* # % & - 1?; HRfer & : 2?; ki & ;m?; i i %
qui&(u\) 17,900,000f 1 AL
“f.:l:fﬁ' (m o - 18.20707,{)00 2| I e -
2 HESEHRBENETE T FE4E9H 20H

%1 2 53

* # B & : [Z:f il & - [fj;@ sz & - [:;E Wi i %
W AT HE ) 24,000,000( 1 AL
TG 24,250,000| 2 |
3 HE1SHEBRBTIH T FEIAL0E

* # & biia tﬁ”’i; Hithe & fmi’lﬁ G & A”Slzf Wi L
m R 21,850,000 3
,; B R mf(ﬂ: 22,220,000| 8
(i‘»? ﬂ:ti Ii’f . 2'2',000.,.006' 5
(H)!T’L’ui?nx N 22;310,000 Q
(FR) TR 21,870,000 4
(m //4/ DU B _21._8(_}{),0_(_]0_2_
() i - )
() j;}j,f‘féé‘é 21,700,000 1 . | R m |
e Ok |
(M “—“J!Eii_ta'yt 22,000,000] 5
4 SHEEMBERERYREELE T TEsH30R

%1 %2 #3081 B

oA E & . ?ﬁﬁ el & : E:]ﬁﬁ | & : I;;El e
(1) i3 17,190,000 9
B T ;(H 16,900,000] i WAL
({fnrr;m:ff SRR I 1'"'1,'036',(')0(} N S _
(H‘ Wmilf;a i o 17,274,000] 11
(B EAERR 16,986.006 2
e T
.(ﬁ ‘fll!ﬂ‘ ﬁﬁ | 17,122,000] 6
() B RE & 17.200,.0.0.0 |
(r,t /}\jiﬁm_” R B '1'7,"1'50,'('}'0('} N
4[’1%“2(1/} | 17,150,000 7
() &g 17,100,(}.0'0 4

1/73R—=%




5 BXRSSHEHNRFELTE

T EIRI0E

¢ #i2 G
* # % o ﬁlf]‘ﬁﬁ it & : [;?; FRfir & %3[:;5 HilTeis L
(#7) N ELRR 20,350,000 3
ﬁ\éééiééﬁié§fg%5'“"” e '”“'”"'”éd;ééé;bdd ”fi _____________________________________ _
%ﬂﬂﬁlﬁiwri L 7mAwpm75 -
@ﬂ@%@ﬂhu.””.. | mmiwde
(T 20320000, 2 |
émyy%Vv ,2¢m&®0,; 7 A
RwEE  20,480,000] §
(#ﬁ{gﬁﬁféééé" RTINS lédpédéﬂﬁéo'ué
(HY /AT S ) 20,380,000 4
Wy | 20430000 7
(fkjé}ﬁiégéﬁl"””"”””"”' ""261595;655"5
6 /MNRIBSHTIR T FeE10A308
Al #2 3
®OoH A & ”?ﬁﬁ wi| | & : i’lﬁ i : [:]; ] M
(37) /N 35,780,000( 4
d~#¥fﬁ§%3:§¥fﬁﬁ)”..... N | ..35;980;600 .5
G%ﬁ#iﬁ.. ﬁ%mmos
(i) IR i 36,047,000| @
) 35,200,000] | e
(1;‘4&);‘/‘/.-/}"*/—« St |
() MhiEAE ..55;985;000 7.
(Bl BRI RE R 35,400,000{ 2
R () 35,700,000| 3
umgmw&' %ﬁﬁ@oé
7 EREEHEEIR T FEETASLA
e = s H510E B _ EPEE . I P
& 3| L0 & iR A & il Hpfsr
ToA AT A B (D) 1,060,000| 1 e
ik £,080,000] 2
FAEBUR () - 55
E#?%%mwmkmﬁiu 1,090,000 4 .
I 7 A () | | 1..080;00.0 2
() At — -  L090,000| 4
i#%)ﬁ%]:dﬁﬁéﬁﬁ - .'i;oéoldob 4

2/3 A~




8 BMREENEWRITE

I#H mESHI5H

" # % H1EE 2 8 H3EH o =
biod (] i & i Lt % # I
(F) ekl 4,762,700| 3
qq)nL4Jr;*¥”””“ S S | o _ i} .
s ””ﬁglm””
Wnﬁﬁ&“. némgﬁbf' ___________ B I
(ié NL&iﬁ;ﬁh | .;1.,%65,0(50 5
{&’1‘) wl_%ﬂ.,x 4,800,000| 5
(ﬁ)[ﬂqﬂﬁﬁﬁ... S N "4562360 5
.}%Quqﬂf..m”..”.m.“. -
(H e 9% B
fetrmi_l (m é‘ﬁ&
(H) EH-,.aaéJ,L 4,.730,000 1 HHEL
Mo Ik . s
nEwE 1,729,000] 2
9 EHIESHBIRERTE T THETHILH
£ 2 HE3E B

* # s & ”I:Ji’iﬁ Hiifsr & : ?ﬁﬁ iz & * E:]ﬁﬁ Mt i %
iR & 3,490,000} 1 AL
S 3530,000| 5 -
mﬂmﬁ 3,510,000 2
AR &m¢®04'
Hl)ﬂ'lﬂ”fﬁif& | FHR
Fmam%#L 3,510,000 2
10 REBRBHNLEMRFETERERH RS L EFEBAOH

A1 e 3

* i & A : ;; Hiifer & : [jj HEE{r ko : [:Iﬁg i =
() 7T “firafﬁr 1,200,000| 3
(ﬂ)fpbb%ﬂ ifl»r“@r | 1,2%0,000 4
(i*J ésf iyl *]‘Jff}’ﬁﬂf' 1,150,000 2'
(H }Vjﬁ%"‘ﬁﬁ’m%nﬁé iﬁ’ﬁs‘ﬁ}f | 1290000 6
(w) w&%ﬁ?&a HEE 1,285,000 3
(HR) SRR 1.145,000] 1 e

3/3~_—9




